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(Trovel graph of Muriel and Johnny's biking trips)
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1. . . . g 1.
Muriel took a rest for _ ? minutes in the midway.
2. 2.
Johnny rode from place _ ? to place __?
3. . 3.
Muriel and Johnny met at a spot _ 7  from place A.
A The difference between Muriel’ s and Johnny' s biking
" time is _?_ minute(s).
. . 4.
Xdifference #p £
D. . . . . D.
Johnny arrived at his destination at _ 7 : ?
6 Muriel’ s average speeds before and after the rest
" ( were / were not ) the same *circle the answer
% average speeds T #aig ¥
7 What was the average speed of the slower rider?
Muriel’ s speed :
1.

Johnny' s speed :
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